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All questions are compulsory.

Questions number 1-5 are of one mark each. The answers to these
questions should not exceed 20 words each.

Questions number 6 - 10 are of two marks each. The answers to these
questions should not exceed 40 words each.

Questions number 11 - 16 are of four marks each. The answers to these
questions should not exceed 100 words each.

Questions number 17 - 21 are of five marks each. The answers to these
questions should not exceed 150 words each.

Question number 21 is a map-based question. Write its answer in your
answer-book.

Questions number 22 - 27 are of six marks each. The answers to these
questions should not exceed 150 words each.



‘wifep SR | R AT ] 2 1
What is meant by ‘Shock Therapy’ ?

e (g&re) ot T A <l IS off 2 1
Why was ASEAN established ?

il % 3w A qw AW A o % wed #, R 29 B e At

Toh ~IRIETA & ? 1
How far are the visa policies of developed countries justified with respect

to the movement of people ?

foeprasfte aen < forfea gun o fow smyfaehishtor w1 @ 21ef 8 2 1

What does modernisation mean to the developing and underdeveloped
countries ?

Mg 9F1 o 9§ # folu MU waie <o o ol @ e e aren vra
TR GRI ITia Fieam dfgen 1faf=d, 1986’ hal deh A& o ? 1
How far was the Government of India justified in passing the ‘Muslim

Women Act, 1986’ that nullified the Supreme Court’s judgement in
favour of Shah Bano ?

g T § T 1 &I HRU &1, 31 foamumsti o1 3g@ HIf | 2x1=2
Mention the two ideologies which were involved in a major conflict during
the Cold War era.

forfest W 6 &1 WAl 1 AT 1 1947 H Waaal foaw o off gar 781 o1 f6
AR ST Teh WNT & AYST Ifehed™ T 3 F1 2 37 UIdl o A1 ol 3g@
i | 141=2
Why did the people of two provinces of British India not know at all, even

on the day of independence in 1947, whether they were a part of India or
Pakistan ? Also, mention the names of the provinces.

3 P.T.O.
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T ‘A’ % e fou e it o T Ow, T B % i fou e sei/aen

% @1 hIfSTT afeh o 7oyl &4 - 4><é=2
Laryd ‘A’ &Iy ‘B’
(%) . IR (i)  Torelt TR-ehiOE ardl =1 ugen yae Wi
(@) . (i) ToreTeE 4 neag-she WieH ogew
YRH A Tl
(1) w3 (i) s Foréeha gearsht & & &
g Wl G e T Siad arel
() WS | (iv) ST TS % AT o1 st ferlieh

Match the personalities given below in column ‘A’ with the
statements/facts given in column ‘B’ to make them meaningful :

Column ‘A’ Column ‘B’

(a) K. Kamaraj 1) First Prime Minister belonging to

a non-Congress Party

(b)  V.V.Giri (ii)  Introduced Mid-Day Meal
Scheme in schools

(c) Karpoori Thakur (i1i)) Contested and won Presidential
election as an independent
candidate
(d)  Morarji Desai (iv)  Strong opponent of the use of
English language
39 FE qoh TEHT @ b THI-HYHN hl TgaATGl a0l RIS T&Rid 371 ot
31U S+ B8 B ? 2

How far do you agree that the plural and secular culture of Jammu and
Kashmir is still largely intact ?

I3 q 3G ool THg HIfTY foh WA o1 Foturieh i o1gd & efefiarn qn
ga-gaTash B | 2x1=2

Give any two examples to prove that the constitutional framework in
India is very flexible and accommodative.
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16.
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319 TSHIfTeh AT 3TTieeh TShiaaT™ i HHT ohid o T, =1 A gRI 33T
U fhdf TR 9q@ el S Se@ hIfT | dx]=d

State any four major steps taken by the Chinese leadership to end its

political and economic isolation.

ST T IROMRN | 3R Tee SIS | 39 QI sl L& s @k Hl Th
T EId R T ST | 2 2+42=4

Distinguish between migrants and refugees. Why are both of them

considered a new source of threat to security ?

TENfiehl sl Aveshiul i1 Tsh TINE™ ek 1 HHT STAT & ? T8 shifru | 4

Why is technology considered to be a critical element of globalisation ?

Explain.

1947 ¥ fawrem <t Ifsham & SR, YA q9T AR SH o HHET 3TE 9
T HISEA! sl IANR HIT | dx1=4

Highlight the four major difficulties faced by both India and Pakistan due
to the process of partition in 1947.

1885 H U TG THE o & H U4 3IgWT ¥ TR, Th HHINIS ql

foraeRTcHeh TTaseA & &9 H hiUd 4 fashiyd g8 ? 4

Right from its origin in 1885 as a pressure group, how did Congress

evolve as a social and ideological coalition ?

1970 * <31 H T 7T TS AT o ERd ¢ feheel & q18i o1 IR
HIfT | 2+2=4

Highlight any two lessons which we have learnt from the National

Emergency imposed during the 1970s.

5 P.T.O.



17. ffafaa g &1 eamqdes Teasd Sife qen 39 W enyria = fgw m
Brelfh Md TG o GRH qHI &1 T3EEHT % ot Ufeiglgan wared &1 &8
off, 31 R TH-gaL & Wfd ¥R hI BT H QHI T2l 3 W SRR ST Ry
R AR gg % AT T Fd @ | B o 98 TER &l g 8 5< & &
foru St I TR |

T ¥ TR 9 91d bl 97 & o Toh T3 & a1aS[g g & 9ohdl & |
() 3 ot et % am fafau |

(i) BRRT Hl WP THEG H Jg Tkt & 0 Aawas o= awen
ST 8 2

(iii) T9H o WTaSg AT 4G hd B Tohdl @ ? 1+42+2=5

Study the following passage carefully and answer the questions based on
it that follow :

Since the Cold War did not eliminate rivalries between the two
alliances, mutual suspicions led them to arm themselves to the teeth and
to constantly prepare for war. Huge stocks of arms were considered

necessary to prevent wars from taking place.
The two sides understood that war might occur in spite of restraint.
1) Name the two rival alliances.

(i) Why were huge stocks of arms considered to be necessary to

prevent war ?

(iii)) How could war occur in spite of restraints ?

59/2/1 6
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o

o
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(1)
(ii)

(iii)

Tayl I =9 ¥ gW % wrg oft gfeor uften % osw oqw A
=B MfdF ghg R 7 faepE & 3= TR HI gia fomam 7 |
SHEEAT 1 lg-a W Fhardiqdeh 0 H Tl foehresia oun |
T8 <X TUH g | AUl URME W ¥ H HeE UEel 3El ¥ 4 #
JTIEEAT 1 IGRIH ToRAT | T8 g | T o STa[g, s arall o
39 9 T Ui AR Hehel BRe] IcTE gieavr TR § Jed S0 B |
et Tod o ATl i Sietehd ot 3H <M 7 ATkt sredaed
HEH TG 7 |

39 301 A ford 291 o o1 | == <kl S R 2

Rad IGO0 1 AFYEh AT HINT T 36 R Aga = T MW

39 3G H HAU <@ hl q HANYh Hew@Ul Ul hl UgEH

HIT |
30 39 § BF a1 T8 Ig qT AT Hest hl ehfa < off 2

1+2+42=5

Study the following passage carefully and answer the questions based on
it that follow :

(1)
(ii)

(iii)

In spite of the ongoing conflicts in this country of South
Asia, it has registered considerable economic growth and
recorded high levels of human development. This country was
one of the first developing countries to successfully control the
rate of growth of population, the first country in the region to
liberalise the economy and it has had the highest per capita
Gross Domestic Product (GDP) for many years right through
the civil war. Despite the ravages of internal conflict, it has
maintained a democratic political system.

Which country has been referred to in this passage ?

Identify the two most important achievements of the country

referred to in this passage.

What was the nature of the civil war and the internal conflicts of

this country ?

P.T.O.



19. FfaRad 3G 1 Samqdes AT T qe1 36 W Ngiia = fgr M
W%W‘Gﬁﬁ?
TG UEL IHESHT o STid Ueh 9g-3eedid formel sy a9 o1 J&dre
3 | Sfg gl 1 HE @ foh 39k i @ oG o T 9ga s T afga
T ugEh Tsat § i & urht, g i fasteht < Icuten s glaem gaan g
ST Gkt Qe HiY hl U9 | TUTCHeh Fgiadl g | S <l 7T ITfETe 59
o @ ot Jgw @ o1 W@ off 75 R 91g i g it auere Wi
SR ST TR | SqTiad sty o fmior & Tef asAi % 245 e g9 6 &F °
MW@ I | q: YW Tidi b e S5 ARG AN o gAaid 1 J&T o gt
T HRIwdIAT 3 ISMT |

() o g o a0y # foru I a1l 999 3 foRH TR % ST T ®Y UR0

feRa 2

(i) &T¢ T FQ@ S TG T ITHI T SIF ATl 0 ATH T [T
= 2

(i) 39 TG I A H WA gu fh 245 7T 1 Srerwe 2T 2, St s i
AT el b 3T 7 ? 1+2+2=5

Study the following passage carefully and answer the questions based on
it that follow :

Sardar Sarovar Project is a multipurpose mega-scale dam. Its
advocates say that it would benefit huge areas of Gujarat and the three
adjoining states in terms of availability of drinking water and water for
irrigation, generation of electricity and increase in agricultural
production. Many more subsidiary benefits like effective flood and
drought control in the region were linked to the success of this dam. In
the process of construction of the dam 245 villages from these states were
expected to get submerged. It required relocation of around two and a
half lakh people from these villages. Issues of relocation and proper
rehabilitation of the project-affected people were first raised by local
activist groups.

) What form of agitation did the protests against the dam take ?

(ii))  Why have benefits like flood and drought control been called as
subsidiary benefits ?

(iii) Since 245 villages were expected to get submerged, how far is the
construction of the dams justified ?

59/2/1 8
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(i) 3T 3@ H 39 &I AS hl IgaH hive, 8 TGl g=awia Asr
AT FATTYeh AT e hl 7% off ?

(i)  TUH GFIEE ASHT o A fhH &F H =JJan TR 1 & foham T
HI AT ?

(iii) Vo JeE¥ AN & @G HIH-8 e I8 A 7 6 390 HY a0
Y Fetiq fawa o fear i or 2 1+2+2=5

59/2/1 9 P.T.O.



Study the bar graph given below carefully and answer the questions based
onit:

Allocations in the First and Second Five Year Plans (in %)
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Major heads of development

1) Identify the major head from the above graph which has been
allocated the maximum funds under the Second Five Year Plan.

(11) Which area was allocated the minimum funds under the First Five
Year Plan and why ?

(111)) Which allocations in the First Five Year Plan show that it laid
emphasis on agriculture and related subjects ?

59/2/1 10
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Note :

21.
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The following questions are for the Visually Impaired Candidates only,
in lieu of Question No. 20 :

(20.1)
(20.2)
(20.3)

(20.1)
(20.2)
(20.3)

forehfea oo @ s/ i 2 2
rastieh & o fohegl &l 1Yl i 3gE iy |

T g1 e e fufda srefeyaeem o fohal @ @Wl &l S9TR
HIT | 14242=5

What is meant by decentralized planning ?

Mention any two advantages of public sector.

Highlight any two benefits of the mixed economy adopted by
India.

foava & feu u ooHifas W@ramfe A, s @), @), ©, O aw E @
TN U g | i @ T8 IRl hl TR ¥ 3= YgHI-U q97 34 Hal M,
TIANT T TS AR Shl SHH HEAT qT TrE-ad 3T& & H1Y, < g arfAehl o
IR, AT IT-feent # foafam - 5x1=5

(ii)
(iii)
(iv)
v)

TN <] TS SRR

PN grafe 18/ | < T A

(1)

(i1)

(iii)

(iv)

(v)

TH ¢ oW H @ 9T SIS AT G- SrTg 9 6 @ |

I < STET el Tkl T 1987 H HgATd YeH <hl T8 |

TE I ThAT T W ST T a1t Sie F T we § Sorm g B |
T8 SN H AN W R HIYR ATk A & g |

39 ¥ o AT i STEAA STl gl 1l & |

11 P.T.O.




In the given political outline map of the World, five countries have been
shown by @, , @, @ and @ With the help of the information given
below, identify them and write their correct names along with the serial
number of the information used and the related alphabet as per the

following table in your answer-book :

Sr. no. of the Related Name of the
information used Alphabet country

(1)

(i1)

(iii)

(iv)

v)

(1) This island country is inhabited by the tribals known as

Polynesians.
(ii1)  The country where Kyoto Protocol was agreed upon in 1987.

(iii) This country is facing a dispute related to the construction of dams

on the Euphrates river.
(iv)  About ten lakh Mapuche indigenous people live in this country.

(v)  Indigenous people of this country are called Scheduled Tribes.

59/2/1 12



For question no. 21

I F. 21 % foag
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e : el 397 &aet giEaniaa ghemaal & o, Jv7 G&qr 21 & T |

Note: The following questions are for the Visually Impaired Candidates
only, in lieu of Question No. 21 :

(21.1) HeraTE fohre HEd & ?

(21.2) FeraTERT I fhegl q STl o AW foTRIU qem Sarse fob o fopa <umi
HTEd @ ?

(21.3) fIva W & goranfe= it g |in w2 2 142+2=5

(21.1) Who are called indigenous people ?

(21.2) Name any two tribes of indigenous people and the countries

where they live.

(21.3) What is the main demand of the indigenous people all over the
world ?

22. Id Ig & NH BI-BI < AERIaA o At o &9 § fhg YR Hgh

9 2 T HIfT | 6
AT

qead aifadd g9 | Hifdad ogawe 6l fheal ©: TehiicHeh faRIvarsti i IR

SHifsT | 6x1=6

How were the smaller states helpful to the Super Powers as their allies
during the Cold War ? Explain.

OR

Highlight any six negative features of the Soviet System in the erstwhile
USSR.

59/2/1 14
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24.

25.
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TTERfqeh 319 § Teh] J=IEd 1 AThe hIT | 6

YT
T AT IeAH o o IR fohegl T @ Hehl I e
HIT | 3x2=6
Assess the U.S. hegemony as a soft power.

OR

Assess any three major factors responsible for the rise of the Chinese
economy.

¥ g % uvEE HYE g H AU IH ATl W @ gt gunl @1 aui iy

5 T aeft wgwa © foh 3 stawy any feen S =iz | 2x3=6
3T

YR GO % ITTHR STel e & 1 AU B ? 39 ThR hl FRear & foheg]

3l dEll 19U SHIY | 2+44=6

Describe the two basic kinds of reforms on which almost everyone agrees
that they must be introduced in the U.N. after the Cold War.

OR

What is meant by traditional notion of external security ? Describe any
two components of this type of security.

TATEATA g€ o Aqcd H 1946 ¥ 1964 T WRA I faew HAfd &1 qedmn

Hif | 6
arra

T o TSI qca o fohe TE WRa <1 fager ifa st ywifoa foram 2 i@ &

3TN <h! TERCT & 30 TS T | 6

Evaluate India’s Foreign Policy from 1946 to 1964 under Jawaharlal
Nehru.

OR

How did the political leadership of India affect its foreign policy ? Explain
with the help of examples from India.

15 P.T.O.
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27.
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25 d, 1975 Sl YR H ST T AR [0 IR el - ared]

giferfaat o1 favaiwor HIfST | 39 6 TF H, AT 1 AT T Hal

qh 3fea o 2 4+2=6
HAYAT

1967 Tl W1 FATE! Y= WRA H §C HE@qUl Sealal ol Wee Hive | 6

Analyse the circumstances which are said to be responsible for the

imposition of Emergency in India on 25th June, 1975. In your opinion,
how far was this imposition justified ?

OR

Examine the significant changes that India underwent after the
Lok Sabha elections of 1967.

R ¥ fafauar o w99 % FEgE & U Alehdiiie giseehivl i ST & ATl

%1 i I | 6
arera

YA § Tesed o I ¥ = AR 7 2 foha uftfeufaai 6 wwror I afEdA

JTRT 3T Y ? 2+4=6

Describe the advantages of the democratic approach to the question of

diversity in India.

OR

What is meant by ‘Era of Coalition’ in India ? What circumstances led to

this change and how ?

16



